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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option/Fill in the blank :
: 1x7=T7

wm#ﬁ@ﬁw/ﬁ 5% o 3 3

(@) When using sign test, if two scores are
tied, then

‘Bz’ A ez FEICe I TR G
23, (o% ;
(i) we count them

SIS sl B!
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(b)

(c)

(ii) we discard ther_n'

sy am fing
(i) it depends upon the scores
T WY R 8o 6T IR
(iv) None of the above
89T OIS FTH
If a Chi-square goodness of fit test has
6 categories and N=30, then the
correct number of degree of freedom is
¥fit @Bt i3-S oHFwre 651 R o
ACF W V=30 W, (ST F9F Al T3
g 8 o
(i) 6
(iii) 28
(iv) 29
Compared to parametric methods, the
- non-parametric methods
UGG A6 FI© O-AEYE AR
(i) are less accurate
T Ao

(ii) are less efficient
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(d)

(e)
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(i) are computationally easier

ST AZE
(iv) (i) and (iii) are correct but not (i)
(i) O (ii)) v % (i) 7=
If AB <-(§—2—(—B—), then the association
N
between two attributes A and B is
‘ﬂﬁ AB<-(f—)—(-B—-)- T, (ST Wol ¥4 A T
N

B-3 &R 79T T3

() O
0

(i) positive
I

(iij) symmetric
e

(iv) negative
AN

ANOVA is a statistical method of

i 1
comparing the _ ‘of severa
populations. (Fill in the blank)

@aoNe W e IR IR
L wﬁm\ﬂw @l (% ANOVA |
(AT 312 %7 F9)
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0

(9)

Consider k independent samples each
containing ny, ny, ..., ny items such that

M +ny +...+n, =n, In ANOVA'we use
F-distribution with degree of freedom

@1 RET kﬁﬂaﬁwﬁﬁﬁm@ Ay,
nk'ﬁfC’Tﬁ;QfT@s ?IE ny+ny+..4n, =n I
G¥A ANOVA-I IR F-3574 Fog T 23
() k-1, n-k

i
(iti) k=n, n-k

(lv) n_kx k_ 1

The probability of type I error when
=005 is

o= oos-awqﬁ@awa@r%awﬁm

8 i q
) 0-025
(i) 005

(iii) 095

(iv) cannot be determined without

more information

S © T2 W Sedt g Ao
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2. Answer the following questions briefly :

: 2x4=8

e HTRY B6F BAtE Tl ¢

fa) Define type I and type II errors with
examples.

A 49T S W% ROl 4o FHI Trige"
Tce ke v

{b) Mention three basic principles of design
of experiments.

S SfSrdR S wﬂ%WWi

(c) Explain sign test for symmetry.

S oFTe o AW AN A

(d) Define association of attributes.
@O eI K

3. Answer any three questions from the

following : 5x3=15
weTe RIS Rt fofib erm Tea 3 ¢

(@) Write down all the conditions for the
validity of y2-test of goodness of fit.

G (NP ANFE (TS /TS (27
x2-3f1 AT TSR T |
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(b)

()

In a large city A, 20% of a random
sample of 900 school children had
defective eye-sight. In other large city
B, 15% of random sample of 1600
children had the same defect. Write
down the required hypothesis ‘and
hence verify whether the difference
between two proportions are significant.

Q3 TIEI 521 A-, 900 BI-T4 1 foe1® 20%
e efomfs @bye 7% =fes e @

T | S G2 533 B-$, 1600 DI-ZaT fooge -

15% oz eifom s i 4798 T ot (oA
1’7 | TG SFEHCO! vl S Hrait wgsire]
RYTR LTS 2w 4 |

What do you mean by Yates’

correction ? Can we apply the same to
every 2 x 2 table even if no -theoretical

~ cell frequency is less than 5°?

4+1=5

B RN I 7 @2 2 x 2 Wi €
& SIS e S PR T Whie gepfie
RS 5-9 (F T qZH?
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(d) Given the frequency distribution —

(16, 0<x<8
1, 9)—{ 0, otherwise
and that you are testing the null
hypothesis H, : 6 =1 against H, : =2
by means of a single observed value of
x. What would be the sizes of type I
and type II errors if you choose the
interval as follows ?

i) . 0:5<x

o) s1<x<1.5

as the critical region

FRQITS! I ere Tt «_eet T @ieg —

1/8, "0 x<0
flx, 0)_{ 0, otherwise
<ol Re o8 H,:0=1-3R4CF H,:0=2
A B 691 (2 TS -3 @< 9ol (S
T A Stz AN 4199 S WF O 1o
SO SR [ 7' Iz IRYE! were Mt
{0 W2 ,
i) - 0:5<x
fii) 1<x<1-5
T owa e
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(e) Fill in the blanks of the following table :

weTe Al FfieTe deT TR oF 4 ¢
Source d.f. Sum §f squares Mean squares F
Y1y Ea e wa  F
X 6 - . & .
Y 10 . ' 1095 -
Error (&%) - 10160 4
Total (T3) T 18225

4. Answer any three questions from the
10x3=30

mﬁnmmﬁwmﬁﬁﬁmwm

(a). Discuss the analysis of randomized

following :

block design (RBD). 10
AT 4@ [y TroERT Rewe S
90 :

(b) State and prove Neyman-Pearson

fundamental lemma. 10
-1 cnfers au! i @ e
el ot '

3 (Sem-3/CBCS) STAHG/RC/G 8

€ @

Two sample polls of votes for two
candidates A and B for a public
office are taken, one from among
the residents of rural areas. The
results are given in the following
table :

@%‘tﬂﬁ@tﬁﬂ«mmmﬁmww
B s sfeta b1 afen! cofb az

T} W TATER Ta Siferere

e
Vote for ((ef5) Total (%)
Area (4TT) A B
Rural (21) 620 380 1000
Urban (5%) | 550 450 1000
Total (B) | 1170 | 830 2000

Examine whether the nature of the
area is related to voting preference
in the election. 6

(Table value of 2 for 1.d.f. is 3:841)

A TN @ (ORI GRATH! GTETIR
AP 8IS [ I & I

(x2-3R OFRITE T 1 Fog TR PR
faa =g 3-841)
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(1)

@ 0

()

In a series of houses actually
invaded by smallpox, 70% of the
inhabitants are attacked and 85%
have been vaccinated. What is the
lowest percentage of the vaccinated
that must have been attacked ?
4

T iR A ST Ry SRR 70%

SIRET SNFE (2R IEF 85% SR
eferaes ozt Rz eferms azt
R TFrew oI SRPT ST (2R
Tfereat |

Write down the hypothesis that is
tested in completely randomised
design (CRD). Hence write down
the AOV table. 2+3=5

efef AR A9 wferA A9
BRI TR o7l | 2N QTS 2Rel
Rree wiferere aws 11|

Estimate the missing value in case
of CRD. S

Trief Amgfoes 21l wiferered A edre

(915 2IwSTo! TN T4 |
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(e)

An insurance agent has claimed that
the average age of policy holder who
insure thrdUgh him is less than the
average for all agents which is 305
years. A random sample of 100 policy
holders who had insured through him
gave the following age distribution :

10

o T GO R TR @ (969 7R Tl

I (30-5 IR)-O(F I | W6 100 T &N
ff e et Sl oS oo i kaes i
IR, I I weTe fm Ve 2

Age at last birthday : 16-20 21-25 26-30 31-35 36-40
(@Rt wrafe )
No. of persons ;12 22 20 30 16

(TZ3 73

3 (Sem-3/CBCS) STA HG/RC/G 11

Calcualte the arithmatic mean and
standard deviation of this distribution
and use thgse values to test his claim
at the 5% level of significance.

[You are given that Z(1-65) = 0-95]

Contd.



VAN NGRS o A [oer Srea
Wﬁi@%ﬂwﬁﬁm«mﬁwmﬁ’r
5% TS FI© A 4 |
[ SR Z (1-65) = 0-95 ]
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